[ Efficiency vs vertpos |

= 0.
0ol ETRPRE SR R AT
2 : : :
O S A
Q . . .
G007 SRR
S 5 5
E0.06F o oeeieeeee o
0.05F - erieeemeeeees R o
0.04F -+ P B =
0.03F++-eveiveseenenens Beeees =
0.02F -+ P B R
0.0ZF -+ -eeeemiereeneeens Beeen oo

Ratio

Efficiend

~ 0.0
9.009
%))

9.008
&

9.007
‘©

$.006
()

0.005
0.004
0.003
0.002
0.001]

Ratio

1.9

0.5

1

10 0?
TP vertr (cr%)

p eTCPE plat:

u.uuu etal OlUdJ

— DIV OT |||d| SLE]

= BN step? 7000 eral;
—_— D§ n le_ste 1000 etal 6t02
— B

e StepzD ptlBOO etalp6to2p0

QE

-30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |

~ 0.0]
S
S T
5 S T S —
A0
1 N . ——
L e
T SESRER SRR SRR SO s o
0002 ++-rrhrvvvess e chornnnnnd
190 SO0 N B T

Ratio

TP vert z (cm)

R TRCCIt IER SRCP:

20 40 60
Sim. PV z (cm)




	Contents
	Page 1


